[=:7¥5E 203649

RENFERH

» AT ETHEHEORRERNTR

» RERGIE

: VO-M6/35-M6x30-2.5

= di-soric

35

63

5.5

BEASE (B8 )

2B

... IT1E

FIF FSB 10 M G1-B8 zgitat]],
FIF FSB 50 M 60 G3-B8 35##7]
FIF FS 50 M G3-B8 35##]

FBF FS 12-100-1 M G3-BS 333,
FBF FS 12-100-1 M G3-B8-E z5##]
FBF FS 12-100-2 M G3-BS 334
FBERY

TiEEEE

T{EEHE

BEER / Mt

di-soric GmbH & Co. KG . SteinbeisstraBe 6 . DE-73660 Urbach . www.di-soric.com

——
@22

M6

+20°C, 24V DC

RESFTH

WRB 120 S-SG-M6x30-2.5, WRB 120 P-SG-M6x30-2.5

5 WRB 120 S-SG-M6x30-2.5 —2{#, 5 WRB 120 P-SG-M6x30-2.5 —2({$
5 WRB 120 S-SG-M6x30-2.5 —2{#, 5 WRB 120 P-SG-M6x30-2.5 —2{
5 WRB 120 S-SG-M6x30-2.5 —2{#H, 5 WRB 120 P-SG-M6x30-2.5 —#2({
5 WRB 120 S-SG-M6x30-2.5 —i2{FH, 5 WRB 120 P-SG-M6x30-2.5 —#2({
5 WRB 120 S-SG-M6x30-2.5 —i2{#H, 5 WRB 120 P-SG-M6x30-2.5 —#2({F
5 WRB 120 S-SG-M6x30-2.5 —it2{gfg, 5 WRB 120 P-SG-M6x30-2.5 —i2{#
@6 mm

35.0 mm

30 ... 60 mm

https://www.di-soric.com/203649

© di-soric . {REBESEERY . 2023.11.03 . {1 (1)



